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NEW QUESTION 1
Which two statements are true about policies?

A. You can use read, write, manage, and inspect as verbs for defining a policy.
B. A policy is a document that specifies who can access which Oracle Cloud Infrastructure resources that your company has, and how.
C. Users need not do anything but still have to be added to a group with appropriate policies defined.
D. You can deny access to a group via policies.

Answer: BC

NEW QUESTION 2
Which two resources are availability domain constructs? (Choose two.)

A. VCN
B. Groups
C. Block Volume
D. Compute Instance
E. Object Storage

Answer: CD

NEW QUESTION 3
Which two tools would you use to manage Database Cloud Service (DBCS)? (Choose two.)

A. psql
B. Oracle Swingbench
C. SQL Developer
D. Oracle Enterprise Manager

Answer: CD

NEW QUESTION 4
You are designing a high bandwidth, redundant connection between your data center and Oracle Cloud Infrastructure (OCI). While researching for OCI
FastConnect locations, you notice that you are co-located with Oracle at one of the Oracle FastConnect locations in the Ashburn region.
What is the recommended design in this scenario?

A. Create a cross-connect group and have two or more cross-connects in that grou
B. Create an IPsec VPN connection on this group.
C. Setup two IPsec connections between your data center and OCI Ashburn regio
D. Create a OCI load balancer to distribute the traffic across the two connections.
E. Create a cross-connect group and have at least two or more cross-connects in that grou
F. Create at least two or more virtual circuits in the group.
G. Create a cross-connect group and have at least one cross-connect in that grou
H. Create at least one virtual circuit in the group.

Answer: C

NEW QUESTION 5
Which statement is true about cloning a volume?

A. You need to detach a volume before cloning from it.
B. A cloned volume is the same as a snapshot that has a dependency on the source volume.
C. You cannot change the block volume size when cloning a volume.
D. You can create a clone for a volume across regions.

Answer: B

NEW QUESTION 6
You are asked to create a user that will access programmatic endpoints in Oracle Cloud Infrastructure. The user must not be allowed to authenticate by username
and password.
Which two authentication options can you use? (Choose two.)

A. PEM Certificate file
B. Auth tokens
C. API signing key
D. Windows password
E. SSH key pair

Answer: BC

NEW QUESTION 7
You must implement a backup solution for your Autonomous Data Warehouse (ADW) that will enable you to restore data as old as one year with a recovery point
objective (RPO) of 10 days.
Which database backup strategy would you select?
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A. Take weekly manual backups to supplement the automated backups and preserve them for 12 months.
B. Use the automated backups.
C. Take monthly manual backups to supplement the automated backups and preserve them for 12 months.
D. Take quarterly manual backups to supplement the automated backups and preserve them for 12 months.

Answer: A

NEW QUESTION 8
Which two use Oracle dynamic routing gateway (DRG) for connectivity? (Choose two.)

A. Remote virtual cloud network (VCN) peering across region
B. Oracle IPsec VPN
C. Local VCN peering
D. Oracle Cloud Infrastructure FastConnect public peering

Answer: AB

NEW QUESTION 9
Which two statements are true about Database Cloud Service (DBCS)? (Choose two.)

A. Data Guard as a Service is offered among regions.
B. You have full control over backup schedule and retention.
C. You can manage Oracle parameters at a global system level.
D. You cannot manage the database as sys/sysdba.

Answer: AB

NEW QUESTION 10
An instance is launched with a primary VNIC that is created during instance launch.
Which two operations are true when you add secondary VNICs to an existing instance? (Choose two.)

A. You can remove the primary VNIC after the secondary VNIC’s attachment is complete.
B. You can remove the secondary VNIC later if it is not needed.
C. The primary and secondary VNIC association should be within the same Availability Domain.
D. It is not possible to connect two VNICs to an instance.

Answer: BC

NEW QUESTION 10
Which two statements define the types of DNS resolvers that exist? (Choose two.)

A. A custom resolver allows instances to use the host names of the hosts in your on-prem network that are connected to your VCN by an IPSec VPN connection.
B. A VCN resolver allows instances to use the host names of the hosts in your on-prem network that are connected to your VCN by an IPSec VPN connection.
C. A VCN resolver allows instances to use host names to communicate with instances on other VCNs in your tenancy.
D. An Internet resolver allows instances to use the host names that are published on the Internet.

Answer: AD

NEW QUESTION 13
Which two choices are true for Autonomous Data Warehouse (ADW)? (Choose two.)

A. Billing stops only when the ADW is terminated
B. Billing stops for both CPU usage and storage usage when ADW is stopped
C. Billing for compute stops when ADW is stopped
D. Billing for storage continues when ADW is stopped

Answer: CD

NEW QUESTION 17
A company currently uses Microsoft Active Directory as its identity provider. The company recently purchased Oracle Cloud Infrastructure (OCI) to leverage the
cloud platform for its test and development operations. As the administrator, you are now tasked with giving access only to developers so that they can start
creating resources in their OCI accounts.
Which step will you perform to achieve this requirement?

A. Create a group for developers on OCI and map the group to a similar group in Microsoft Active Directory during the federation process.
B. Federate all Microsoft Active Directory groups with OCI to allow users to use their existing credentials.
C. Create a new user account for each user, and then create policies to provide access to developers.
D. Create a group for developers on OCI, export all the developers from Microsoft Active Directory, and then import them into the Identity and Access Management
(IAM) group.

Answer: B

NEW QUESTION 18
Which three methods can you use to manage Oracle Cloud Infrastructure services? (Choose three.)
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A. Oracle Cloud Infrastructure Desktop Client
B. Oracle Cloud Infrastructure Console
C. SSH or RDP
D. Command-line Interface
E. REST API

Answer: ABD

NEW QUESTION 21
What is the maximum CIDR range that can be assigned when configuring a Virtual Cloud Network?

A. /16
B. /26
C. /24
D. /8

Answer: A

NEW QUESTION 24
Which tool can automatically install Oracle Cloud Infrastructure CLI?

A. Python
B. RPM
C. APT
D. PIP

Answer: A

NEW QUESTION 26
Which storage service is used on OCI for a Data Transfer Service job?

A. An instance with enough storage to accommodate the job
B. An object bucket
C. A File System service instance
D. Block Volume

Answer: A

NEW QUESTION 27
Which service would you use if your big data workload required shared access and NFS-based connectivity?

A. block volume
B. archive storage
C. object storage
D. file storage

Answer: D

NEW QUESTION 28
Which deployment architecture is offered when you deploy the Platform Service Manager based Database Cloud Service (DBCS) onto Oracle Cloud
Infrastructure?

A. Two node Primary RAC database leveraging ACFS for the shared file system
B. Single Instance database with a Single Instance Data Guard in Maximum Performance mode
C. Single Instance database with a Single Instance Data Guard in Maximum Protection mode
D. Two node Primary RAC database with a two node RAC Data Guard Standby in Maximum Performance mode

Answer: D

NEW QUESTION 31
Which service is NOT supported by Oracle Cloud Infrastructure CLI?

A. load balancer
B. compute
C. database
D. block volumes

Answer: D

NEW QUESTION 33
Which five are the required parameters to launch an instance in Oracle Cloud Infrastructure? (Choose five.)

A. subnet
B. Availability Domain
C. Virtual Cloud Network
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D. host name
E. instance shape
F. image operating system
G. private IP address

Answer: ABCEF

NEW QUESTION 36
Which two resources are available by default when your Oracle Cloud Infrastructure tenancy is provisioned?

A. an NVMe SSD boot disk for each instance, whose size is determined by the image and shape of the instance
B. a range of public IP addresses that are reserved for your tenancy
C. a set of images, where each image is a template of a virtual hard drive that consists of the OS and installed software and applications
D. a variety of shapes, where each shape determines the number of CPUs and memory allocated to an instance.

Answer: AB

NEW QUESTION 38
You are an administrator with an application running on OCI. The company has a fleet of OCI compute virtual instances behind an OCI Load Balancer. The OCI
Load Balancer Backend Set health check API is providing a ‘Critical’ level warning. You have confirmed that your application is running healthy on the backend
servers.
What is the possible reason for this ‘Critical’ warning?

A. A user does not have correct IAM credentials on the Backend Servers.
B. The Backend Server VCN’s Route Table does not include the route for OCI LB.
C. OCI Load Balancer Listener is not configured correctly.
D. The Backend Server VCN’s Security List does not include the IP range for the source of the healthcheck request

Answer: D

NEW QUESTION 43
How can you provide users access to an existing compartment?

A. by granting users access to a compartment when the compartment is created
B. by adding users to a group and defining a policy to provide the group access to the compartment
C. by adding users to a compartmen
D. All users in the compartment will have access to the objects in the compartment.
E. by granting access directly to the user when the user is created

Answer: B

NEW QUESTION 47
Which two options are available when setting up DNS for your bare metal and virtual machine DB Systems? (Choose two.)

A. Internet and custom resolver
B. Google DNS servers
C. custom resolver
D. Internet and virtual cloud network (VCN) resolver

Answer: CD

NEW QUESTION 52
You have multiple applications installed on a compute instance and these applications generate a large amount of log files. These log files must reside on the boot
volume for a minimum of 15 days and must be retained for at least 60 days. The 60-day retention requirement is causing an issue with available disk space.
What are the two recommended methods to provide additional boot volume space for this compute instance? (Choose two.)

A. Terminate the instance while preserving the boot volum
B. Create a new instance from the boot volumeand select a DenseIO shape to take advantage of local NVMe storage.
C. Create an object storage bucket and use a script that runs daily to move log files older than 15 days to the bucket.
D. Create and attach a block volume to the compute instance and copy the log files.
E. Create a custom image and launch a new compute instance with a larger boot volume size.
F. Write a custom script to remove the log files on a daily basis and free up the space on the boot volume.

Answer: BC

NEW QUESTION 54
Which two are required to create an IPSec VPN connection? (Choose two.)

A. security list
B. static route CIDR
C. name
D. compute instance

Answer: AB

NEW QUESTION 57
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At the end of a terraform apply operation, what is the default output?

A. nothing by default
B. statistics about what was added, changed, and destroyed
C. the entire state file
D. statistics about what was added, changed, and destroyed, and the values of outputs

Answer: D

NEW QUESTION 58
For a compute instance that is launched in a private subnet in a Virtual Cloud Network (VCN), which action needs to be performed to connect to the Internet,
assuming that the required security list is properly set up?

A. Assign a Public IP address to the compute instance.
B. Create and configure Network Address Translation (NAT) in a public subnet and route all traffic to it.
C. There is no way for an instance in a private subnet to connect to the Internet.
D. Create a default route entry in the route table to forward all traffic to the Internet gateway.

Answer: B

NEW QUESTION 61
You are running a mission-critical database in Oracle Cloud Infrastructure (OCI). You take regular backups of your DB system to OCI object storage. Recently, you
notice a failed database backup status in the console.
What two steps can you take to determine the cause of the backup failure? (Choose two.)

A. Ensure the database archiving mode is set to NOARCHIVELOG
B. Ensure that your database host can connect to the OCI object storage
C. Restart the dcsagent program if it has a status of stop or waiting
D. Make sure that the database is not active and running while backup is in progress

Answer: AC

NEW QUESTION 64
Which two options are available when configuring DNS resolution for your virtual cloud network? (Choose two.)

A. Internet and custom resolver
B. Google DNS servers
C. custom resolver
D. Internet and virtual cloud network (VCN) resolver

Answer: CD

NEW QUESTION 65
Which statement is true about Oracle Cloud Infrastructure Object Storage Service?

A. An Archive Object Storage tier bucket can be upgraded to the Standard Object Storage tier.
B. You cannot directly download an object from an Archive Object Storage bucket.
C. An existing Standard Object Storage tier bucket can be downgraded to the Archive Object Storage tier.
D. Data retrieval in Archive Object Storage is instantaneous.

Answer: B

NEW QUESTION 68
Which statement is true about cloning a volume?

A. You can clone a volume in another region.
B. You need to detach a volume before cloning it.
C. A cloned volume is the same as a snapshot that has a dependency on the source volume.
D. You can change the block volume size when cloning a volume.

Answer: C

NEW QUESTION 73
Which three are capabilities of the dbaascli utility? (Choose three.)

A. Patching the primary database deployment
B. Open port 1521 in the VCN to allow for traffic to the listener
C. Start and open the database instance
D. Switchover and failover in an Oracle Guard configuration
E. Clone a DB

Answer: ACD

NEW QUESTION 78
You need to transfer over 12 TB of data from on-premises to your cloud account. You started copying this data over the internet and noticed that it will take too
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long to complete.
Without increasing the costs of your subscription, what is the recommended way to send this amount of data to your cloud account?

A. Use Data Transfer Service to send your data.
B. Split the data into multiple parts and use the multipart tool.
C. Use a 10 GB FastConnect line to send the data.
D. Send the data over a VPN IPsec tunnel.
E. Compress the data and use the multipart tool.

Answer: A

NEW QUESTION 80
You deployed a compute instance (VM.Standard2.16) to run a SQL database. After a few weeks, you need to increase disk performance by using NVMe disks; the
number of CPUs will not change. As a first step you terminate the instance and preserve the boot volume.
What is the next step?

A. Create a new instance using a VM.DenseIO2.16 shape using the preserved boot volume and move the SQL Database data to block volume
B. Create a new instance using a VM.DenseIO2.8 shape using the preserved boot volume and move the SQL Database data to NVMe disks
C. Create a new instance using a VM.Standard1.16 shape using the preserved boot volume and move the SQL Database data to NVMe disks
D. Create a new instance using a VM.DenseIO2.16 shape using the preserved boot volume move the SQL Database data to NVMe disks

Answer: A

NEW QUESTION 81
Your company is moving an Internet-facing, 2-tier web application into Oracle Cloud Infrastructure. The application must have a highly available architecture.
Which two design options would you consider? (Choose two.)

A. Configure a Dynamic Route Gateway in your VCN and make it highly available.
B. Configure a NAT instance in your Virtual Cloud Network (VCN). Create a route rule by using the private IP of the NAT instance as a route target for all the
private subnets in your VCN.
C. Create an Internet Gateway and attach it to your VC
D. Deploy public load balancer nodes into two Available Domains.
E. Place all web servers behind a public load balancer.

Answer: BC

NEW QUESTION 82
Which two are true for Oracle Cloud Infrastructure DNS? (Choose two.)

A. It can function only as a primary DNS.
B. It supports other cloud providers such as AWS and Azure.
C. It supports segregation of traffic by using the private pool.
D. It does not provide DDoS protection.

Answer: BC

NEW QUESTION 86
Why are two subnets required to create a public load balancer when additional subnets are often used for back-end servers? (Choose two.)

A. Routing is simpler when the load balancer is not in the same subnet as the back-end server.
B. Performance is higher when more subnets are used.
C. Additional subnets for back-end servers allow for separate route tables for these servers.
D. Additional subnets for back-end servers allow for separate security lists for these servers.

Answer: BD

NEW QUESTION 88
In which language are Terraform and Terraform providers written?

A. Python
B. Go
C. C
D. Ruby

Answer: B

NEW QUESTION 90
Where is the tenancy Oracle Cloud Identifier (OCID) located?

A. given by support on account creation
B. at the bottom of every console page
C. on the Identity – Users page
D. contained within the compartment OCID

Answer: B
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NEW QUESTION 93
Which two statements about the Oracle File Storage Service (FSS) Security are accurate? (Choose two.)

A. Oracle IAM controls which filesystems are mountable by which instances.
B. Security lists can be used as a virtual firewall to prevent an instance from mounting an FSS mount target within a subnet.
C. Encryption of file storage in FSS is optional.
D. Data in transit to an FSS mount target is encrypted.
E. FSS leverages UNIX user group and permission checking for file access security.

Answer: BD

NEW QUESTION 96
Which two are NOT an image source when launching a new compute instance? (Choose two.)

A. boot volume
B. custom image
C. Object Storage
D. bare metal instance

Answer: AC

NEW QUESTION 97
You are managing a tier-1 OLTP application on an Autonomous Transaction Processing (ATP) database. Your business needs to run hourly batch processes on
this ATP database that may consume more CPUs than what is available on the server.
How can you limit these batch processes to not interfere with the OLTP transactions?

A. Copy OLTP data into new tables in a new table space and run batch processes against these new tables
B. ATP is designed for OLTP workload only; you should not run batch processes on ATP
C. Disable automated backup during the batch process operations
D. Configure ATP resource management rules to manage runtime and IO consumption for the consumer group of batch processes

Answer: D

NEW QUESTION 100
Which two configuration formats does Terraform support? (Choose two.)

A. YAML
B. JSON
C. HCL
D. XML

Answer: BC

NEW QUESTION 104
What is true about data guard set up with fast-start failover (FSFO) in Oracle Cloud Infrastructure (OCI)?

A. The best practice for high availability and durability is to run the primary, standby, and observer in separate availability domains (ADs).
B. When you configure data guard using OCI console, the default mode is set to maxprotection.
C. You cannot create the standby DB system in a different AD from the primary DB system.
D. You cannot use database command line interface (CLI) to set up data guard with FSFO.

Answer: A

NEW QUESTION 107
You currently manage an e-commerce application that utilizes 25 identical compute resources to handle customer traffic. The stakeholders have asked you to
create another 25 identical compute resources in order to deploy and test a new version of the software?
What is the most efficient process to create 25 additional compute resources that are identical to the first 25?

A. Create a custom image from 1 of the 25 server
B. Use this custom image to provision 25 more servers
C. Create a manual backup of each boot volume belonging to the 25 server
D. Restore each backup to create 25 new boot volumes, from which you will provision 25 more servers
E. Provision a new server and configure it to be identical to the first 25. Create a custom image from the new server, then use the custom image to provision 24
more servers
F. Clone the boot volume of 1 of the 25 server
G. Use the boot volume clone to provision 25 more servers

Answer: A

NEW QUESTION 108
Which two options are true for Autonomous Transaction Processing (ATP) database? (Choose two.)

A. You can add/remove Diskgroup in ATP
B. You can scale storage up or down in ATP
C. You can scale CPU up or down in ATP
D. You can add more Pluggable Database for consolidating multiple databases in ATP
E. You can add new ORACLE_HOME for bringing older versions of on-premises databases to ATP
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Answer: BD

NEW QUESTION 109
Your organization has deployed a large, complex application across multiple compute instances in Oracle Cloud Infrastructure (OCI). These compute instances
also have block volume storage attached to them. You want to create a time consistent backup of these block volume storage.
Which implementation strategy should be used?

A. Create a manual backup of each volume
B. Use scripts available in OCI to backup block volume storage
C. Group volumes in a volume group first and then use available scripts in OCI
D. Group volumes in a volume group and create a manual backup of the volume group

Answer: B

NEW QUESTION 114
Which storage would you use if your big data workload requires shared access and an NFS based interface?

A. File Storage
B. Storage Software Cloud Appliance
C. Object Storage
D. Archive Storage
E. Block Volume

Answer: A

NEW QUESTION 116
Which two statements are true about data guard service on DB Systems in Oracle Cloud Infrastructure (OCI)? (Choose two.)

A. Data guard implementation requires two DB Systems, one running the primary database on a virtual machine and the standby database running on bare metal
B. Data guard configuration on the OCI is limited to one standby database per primary database
C. Data guard configuration on the OCI is limited to a virtual machine only
D. Data guard implementation requires two DB Systems, one containing the primary database and one containing the standby database

Answer: BD

NEW QUESTION 121
Your company has decided to move a few applications to Oracle Cloud Infrastructure (OCI) and you have been asked to design a cloud-based disaster recovery
(DR) solution. One of the requirements is to deploy the DR resources at least 300 miles from the home OCI region and minimize the network latency.
What will be the recommended deployment?

A. Deploy production and DR applications in the same VC
B. Create production subnets in one AD, and DR subnets in another AD.
C. Deploy production and DR applications in two separate VCNs in different availability domains (ADs) within your home region, and then use a VCN remote
peering connection for connectivity.
D. Deploy production and DR applications in two separate VCNs, each in different region
E. Connect them using a VCN remote peering connection.
F. Deploy production and DR applications in two separate virtual cloud networks (VCNs), each in different regions, and then use VCN local peering gateways for
connectivity.

Answer: B

NEW QUESTION 126
Which two statements are true about an Oracle Cloud Infrastructure Virtual Cloud Network (VCN)? (Choose two.)

A. A VCN can reside in multiple Oracle Cloud Infrastructure regions and Availability Domains.
B. A VCN covers a single contiguous IPv4 CIDR block of your choice.
C. An allowable VCN size range is: /16 to /30.
D. A VCN creates the dynamic routing gateway by default.

Answer: BC

NEW QUESTION 128
You have provisioned an Autonomous Transaction Processing (ATP) database and logged into the ATP service console.
What are three abilities that can be performed from this service console? (Choose three.)

A. scale up/down the CPUs
B. create ATP database users
C. reset the admin password
D. set resource management rules
E. monitor database activity and SQL queries

Answer: ADE

NEW QUESTION 129
What is a “transfer package” when transferring data to OCI via the OCI Data Transfer Service?
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A. A transfer package is the logical representation of the physical shipment containing the HDD transfer devices that you ship to Oracle to upload to OCI.
B. A transfer package is the software Oracle provides for you to prepare transfer devices for shipment to Oracle
C. A transfer package contains the physical devices.
D. A transfer package is the archive file that the Data Transfer Service Utility (dts) writes to the transfer device.

Answer: A

NEW QUESTION 132
A customer wants to do development on premise while leveraging services such as Java Cloud, Mobile Developer Cloud, and App Builder Services. The customer
would also like to scale out the application, stretching from on-premises to the cloud by using a common API.
Which two Infrastructure options can the customer leverage to do this? (Choose two.)

A. Oracle Cloud at Customer
B. Oracle Cloud Infrastructure Classic
C. Oracle Cloud Ravello service
D. Oracle Cloud Infrastructure

Answer: AD

NEW QUESTION 135
......
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